Bid #BLD2122413B1 - Fire Alarm System Monitoring, Maintenance, and Repairs at FLL

Creation Date Feb 19, 2021 End Date May 10, 2021 2:00:00 PM EDT

Start Date Mar 30, 2021 6:48:06 PM EDT Awarded Date Not Yet Awarded

BLD2122413B101-01 Imported Item Lot: To	BLD2122413B1–01-01 Imported Item Lot: Terminal 1 at FLL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AFA Protective Systems	First Offer - \$715.00	36 / month	\$25,740.00	Υ	Y			
Product Code:		Supplier Product Code	: BLD2122413B101-01					
Agency Notes:		Supplier Notes: Provid Cost: 100%	le What Percentage (%) of Bid Pric	e is Labor			
Sciens Building Solutions	First Offer - \$937.00	36 / month	\$33,732.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Lab Cost: 85%						

BLD2122413B101-02 Imported Item Lot: Terminal 2 at FLL					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AFA Protective Systems	First Offer - \$450.00	36 / month	\$16,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: BLD2122413B101-02 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%			
Sciens Building Solutions	First Offer - \$625.00	36 / month	\$22,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is La Cost: 85%			e is Labor

LD2122413B101-03 Imported Item Lot: Terminal 3 at FLL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$450.00	36 / month	\$16,200.00		Y		
Agency Notes:		Supplier Product Code: BLD2122413B1-01-03 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%					
Sciens Building Solutions	First Offer - \$500.00	36 / month	\$18,000.00		Υ		
Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Lal Cost: 85%			e is Labor		

BLD2122413B101-04 Imported Item Lot: Terminal 4 at FLL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$650.00	36 / month	\$23,400.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: BLD2122413B101-04 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%					
Sciens Building Solutions	First Offer - \$856.00	36 / month	\$30,816.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Lab					

Cost: 85%

BLD2122413B101-05 Imported Item Lot: R	ental Car Center (RCC) & C	press Garage at FLL			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
AFA Protective Systems	First Offer - \$2,200.00	36 / month	\$79,200.00		Υ
Product Code: Agency Notes:	Supplier Product Code: BLD2122413B1-01-05 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%				
Sciens Building Solutions	First Offer - \$2,772.00	36 / month	\$99,792.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Lab Cost: 85%			

LD2122413B101-06 Imported Item Lot: Palm Garage at FLL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AFA Protective Systems	First Offer - \$225.00	36 / month	\$8,100.00		Y	
Agency Notes:		Supplier Product Code: BLD2122413B101-06 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%				
Sciens Building Solutions	First Offer - \$312.00	36 / month	\$11,232.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is La Cost: 85%			e is Labor	

BLD2122413B101-07 Imported Item Lot: H	LD2122413B101-07 Imported Item Lot: Hibiscus Garage at FLL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$325.00	36 / month	\$11,700.00		Υ		
Agency Notes:		Supplier Product Code: BLD2122413B1-01-07 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%					
Sciens Building Solutions	First Offer - \$437.00	36 / month	\$15,732.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Lal Cost: 85%			e is Labor		

BLD2122413B101-08 Imported Item Lot: B	BLD2122413B1–01-08 Imported Item Lot: BCAD Maintenance Bldg; 3400 SW 2 Avenue Fort Lauderdale							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AFA Protective Systems	First Offer - \$250.00	36 / month	\$9,000.00		Y			
Product Code: Agency Notes:	Supplier Product Code: BLD2122413B101-08 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%							
Sciens Building Solutions	First Offer - \$343.00	36 / month	\$12,348.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Labo Cost: 85%						

BLD2122413B101-09	Imported Item Lot: BCAD Security Bldg; 3545 SW 2 Avenue Fort Lauderdale

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AFA Protective Systems	First Offer - \$45.00	36 / month	\$1,620.00		Υ	
Agency Notes:		Supplier Product Code: BLD2122413B101-09 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%				
Sciens Building Solutions	First Offer - \$62.00	36 / month	\$2,232.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Labo Cost: 85%				

BLD2122413B101-10 Imported Item Lot: BC	AD Trailers; 3550 SW 2 A	venue Fort Lauderdale	•			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
AFA Protective Systems	First Offer - \$45.00	36 / month	\$1,620.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: BLD2122413B1-01-10 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%				
Sciens Building Solutions	First Offer - \$62.00	36 / month	\$2,232.00		Υ	
		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is La Cost: 85%				

3LD2122413B101-11 Imported Item Lot: BCAD Credentialing/Badging Office; 500 Terminal Drive Fort Lauderdale							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$45.00	36 / month	\$1,620.00		Y		
Product Code: Agency Notes:	Supplier Product Code: BLD2122413B101-11 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%						
Sciens Building Solutions	First Offer - \$93.00	36 / month	\$3,348.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Lal Cost: 85%			e is Labor		

BLD2122413B101-12 Imported Item Lot: BCAD Fire Station/Comm Center at FLL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$185.00	36 / month	\$6,660.00		Y		
Product Code: Agency Notes:			e: BLD2122413B101-12 de What Percentage (%		e is Labor		
Sciens Building Solutions	First Offer - \$250.00	36 / month	\$9,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Provid Cost: 85%	e: de What Percentage (%) of Bid Pric	e is Labor		

BLD2122413B101-13 Imported Item Lot: BCAD Maintenance Warehouse (G&G); 1100 NE 7 Avenue Dania Beach							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$45.00	36 / month	\$1,620.00		Υ		
Product Code: Supplier Product Code: BLD2122413B101-13							
Agency Notes:		Supplier Notes: Provide What Percentage (%) of Bid Price is Labo					

		Cost : 100%			
Sciens Building Solutions	First Offer - \$62.00	36 / month	\$2,232.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is L Cost: 85%			

BLD2122413B101-14 Imported Item Lot: Airfield Vault at FLL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$45.00	36 / month	\$1,620.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: BLD2122413B1-01-14 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%					
Sciens Building Solutions	First Offer - \$62.00	36 / month	\$2,232.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Provid Cost: 85%	e: le What Percentage (%)) of Bid Pric	e is Labor		

BLD2122413B101-15 Imported Item Lot: Former Animal Care Facility; 1870 SW 39 Street Fort Lauderdale							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$40.00	36 / month	\$1,440.00		Y		
Agency Notes:		Supplier Product Code: BLD2122413B101-15 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%					
Sciens Building Solutions	First Offer - \$53.00	36 / month	\$1,908.00		Y		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Provid Cost: 85%	e: le What Percentage (%)) of Bid Price	e is Labor		

BLD2122413B101-16 Imported Item Lot: U.S. 1 Tunnel Cell 1 - Perimeter Road							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$385.00	36 / month	\$13,860.00		Υ		
Product Code: Agency Notes:			e: BLD2122413B101-16 de What Percentage (%		e is Labor		
Sciens Building Solutions	First Offer - \$500.00	36 / month	\$18,000.00		Υ		
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Provide W Cost: 85%) of Bid Pric	e is Labor			

BLD2122413B1–01-17 Imported Item Lot: U.S. 1 Tunnel Cell 2 - FEC Rail Road								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
AFA Protective Systems	First Offer - \$385.00	36 / month	\$13,860.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: BLD2122413B101-17 Supplier Notes: Provide What Percentage (%) of Bid Price is Labo Cost: 100%						
Sciens Building Solutions	First Offer - \$500.00	36 / month	\$18,000.00		Υ			
Product Code:		Supplier Product Code	:					

Agency Notes:	Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 85%	

BLD2122413B101-18 Imported Item Lot: U.S. 1 Tunnel Cell 3 - U.S. 1 SouthBound							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$385.00	36 / month	\$13,860.00		Υ		
Product Code: Agency Notes:			e: BLD2122413B101-18 de What Percentage (%		e is Labor		
Sciens Building Solutions	First Offer - \$500.00	36 / month	\$18,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is I Cost: 85%		e is Labor			

BLD2122413B101-19 Imported Item Lot: U.S. 1 Tunnel Cell 5 - U.S. 1 Northbound							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$385.00	36 / month	\$13,860.00		Υ		
Agency Notes:		Supplier Product Code: BLD2122413B101-19 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%					
Sciens Building Solutions	First Offer - \$500.00	36 / month	\$18,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is L Cost: 85%			e is Labor		

BLD2122413B101-20 Imported Item Lot: U.S. 1 Tunnel Cell 6 - Airport Ramp							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
AFA Protective Systems	First Offer - \$385.00	36 / month	\$13,860.00		Y		
Product Code: Agency Notes:		Supplier Product Code: BLD2122413B101-20 Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%					
Sciens Building Solutions	First Offer - \$500.00	36 / month	\$18,000.00		Υ		
Product Code: Supplier Product		••	e: de What Percentage (%) of Bid Pric	e is Labor		

BLD2122413B101-21 Imported Item Lot: Fire Watch (24 hour coverage)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Sciens Building Solutions	First Offer - \$1,644.00	1095 / day	\$1,800,180.00		Υ		
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes: Provid Cost: 98%	e: de What Percentage (%	b) of Bid Pri	ce is Labor		
AFA Protective Systems	First Offer - \$2,136.00	1095 / day	\$2,338,920.00		Y		
Product Code: Agency Notes:		Supplier Product Code: BLD2122413B101-21 Supplier Notes: Provide What Percentage (%) of Bid Price is L Cost: 100%		ce is Labor			

BLD2122413B101-22 Imported Item Lot: Fi	re Watch					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sciens Building Solutions	First Offer - \$68.50	9000 / hour	\$616,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Provid Cost: 98%	e: le What Percentage (%)) of Bid Price	e is Labor	
AFA Protective Systems	First Offer - \$89.00	9000 / hour	\$801,000.00		Y	
Agency Notes:		''	:: BLD2122413B101-22 le What Percentage (%	01-22 age (%) of Bid Price is Labo		

BLD2122413B101-23 Imported Item Lot: Te	chnician Hourly Rate - N	lormal Working Hrs (M	onday - Friday 8: 00am	to 5:00pm)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Sciens Building Solutions	First Offer - \$75.00	4500 / hour	\$337,500.00		Υ	
Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%				
AFA Protective Systems	First Offer - \$75.00	4500 / hour	\$337,500.00		Υ	
Agency Notes:		1	:: BLD2122413B101-23 le What Percentage (%)			

BLD2122413B101-24 Imported Item Lot: Technician Hourly Rate - Non Normal Working Hrs (Monday - Friday 5:00pm)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sciens Building Solutions	First Offer - \$112.50	2700 / hour	\$303,750.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 100%			
AFA Protective Systems	First Offer - \$112.50	2700 / hour	\$303,750.00		Y
Agency Notes:		''	e: BLD2122413B101-24 de What Percentage (%		e is Labor

BLD2122413B101-25 Imported Item Lot: Pass-Thru for Miscellaneous Parts and Materials					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sciens Building Solutions	First Offer - \$1.00	750000 / each	\$750,000.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Provide What Percentage (%) of Bid Price is Labor Cost: 0%			
AFA Protective Systems	First Offer - \$1.00	750000 / each	\$750,000.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Provide Cost: 0%		of Bid Price	is Labor

Supplier Totals

f Sciens Building Solutions \$4,165,266.00 (25/25 items)
--

	,					
	Brad G bgolub@sciensbuildingsolutions.com Ph 561-393-2933	2200 Central Park Blvd N. Pompano Beach, FL 33064				
Agency Notes:		Supplier Notes: Head	Head Attch			
f AFA Prote	ective Systems	\$4,806,210.00 (25/25 items)			
Bid Contact	Frank de la grana fdelagrana@afap.com Ph 954-473-0022	Address 6535 Nova Drive Suite 111 Davie, FL 33317				
Bid Notes	Two documents have been attached to the first line item (Terminal 1 at FLL). These attachments contain the supporting documents (certifications, licenses, etc.) and the bid packet with Vendor's information.					
Agency Not	es:	Supplier Notes: Two documents have been attached to the first line item (Terminal 1 at FLL). These attachments contain the supporting documents (certifications, licenses, etc.) and the bid packet with Vendor's information.	Head Attcl			

Award Total

\$4,165,266.00 (Does not apply to percentage or no price items.)

**